HEHO/HE-CL
_— —— DN"OXN
ﬁ-—--..—' NP @AY NI7m0 . @

HE-HC A4nponn/Grade 5.6 :nT79210 °
i 5-8u Zn / sherardized 40-50p:[i172 *

Fire Resistance

European European Classification
Approval |t - Approval (st L R120
o e Effectis R2014

8.8 11120y (30-1[Ib2) TTIA [a1y'7 D'ONIy N7

M20 M16 M12 M10 M8 M6 HEHO, HECL, HE-A4 - piyn 210
25 20 15 12 10 8 (mm) jaiynip
43.1 31.6 21.3 15.2 9.9 7.5 Nrk,cone
/* /* /* /% 1* /* Nrkpull n9'7y
1M9IX 7Y 0Nl
47.5 325 17.5 9.1 8.8 6.5 Vik mm J%
kN X
24.0 17.5 11.8 85 55 42 Nrd no'7v 2
[on only ~
38.0 26.0 14.0 73 7.0 5.2 Vid mm
171 12.5 8.5 6.0 3.9 3.0 Nrec no'y X'7nin ony
27.1 18.6 10.0 5.2 5.0 3.7 Vrec mm nnw only
30.2 22.1 14.9 10.7 6.9 53 Nrk,cone
20.0 12.0 7.5 5.0 3.0 20 Nrkpull oY
U9IX 7 0Ny
95.1 65.0 35.1 18.2 17.6 13.1 Nrk steel
475 325 17.5 9.1 8.8 6.5 ) Vi mm g
N o
10.5 6.3 39 26 1.8 1.2 Nrd n9'7y £
[on only -
38.0 26.0 14.0 7.3 7.0 5.2 Vid mm
7.5 4.5 28 1.9 13 0.9 Nrec no'7v X7nIn only
27.1 18.6 10.0 5.2 5.0 3.7 Vrec nmm NN only
86 70 54 43 33 27 L [ayn X
80 65 50 40 30 25 heff 2'DPIN MPNN PRIY
25 20 16 12 10 8 do (1022 NIT'P DIP
160 130 100 100 100 100 hb,min XMLy |
=
22 18 14 1 9 7 mm dr TONIDN DIZXN NMTAPNNT WP | 5
N
280 230 175 140 100 100 Copt |IDIN NN F7XDDDIX PNIN E
a
280 230 175 140 100 100 Crmin 102N XN F7XDD PN
240 195 150 120 90 75 Sopt DY |12 *7XDDDIX PN
160 130 100 80 60 60 Smin DIYN 217X N0
100 60 38 17 1" 4 Nm Tinst MpNNY7 '70'0p1 DININ

.ETA 14/0135 jpnima'7y mooiant ENV 1992-4 : 2018 pn 197 nrawinn,,0pnIn Niyawn 172,30-1 1022 TTI 1Y 197 01D DI
NT7¢U2 197 MIp INX 7WI DTN XT *

HEHO/HE-CL




8.8 11120y (30-2 |IL2) TTIA |a1y'7 D'ONIY N'72D

[ID2 PN DMPI"90

M12 M10 M8 M12 M10 M8 HEHC - aiyn 210

15 12 10 15 12 10 (mm) piynoip

4.0 4.0 2.5 6.5 6.0 55 Fork 1M9IX 7Y ODIY g
33 33 2.1 54 43 39 kN Frd [on oniy Jg
24 24 1.5 3.9 3.1 2.8 Frec nnw oniy =
29 28 28 29 28 28 hnom nITp Iy

25 25 25 25 25 25 heff 2'DPIN MPNN PRIY

16 12 10 16 12 10 do ID22 NITP 01

80 80 80 - - - hb,min ‘780D D2 Q1Y

14 1 9 14 1 9 mm dr TNNINN DINTXN T MPNNT 0IP %
60 60 60 150 150 150 Copt [ID2N ¥R 7XDDIIX PRIN E:
60 60 60 - - - Cmin [ID2N N¥PR '7XD1M PNIN

120 120 120 200 200 200 Sopt 021N 2 '7XDID9IN NN

75 75 75 - - - Smin DAIVN 217X NN

38 17 1 38 17 1" Nm Tinst NIpNNY7 '70'0p71 DININ

1pna 1

2N nTpR7 (1

JMIXXNT DY NN DX NPT (2

(
(
HEHO |21yn nX 01017 (3
O'XND 72 1T 7Y |21YD NIX NIN9YT (4
(

1120 IX DIXN DX 1107 (5

()] D9 IXN
EXHBMO06 Setting Tool HE M6
EXHBMO08 Setting Tool HE M8 D'||'7] DTN
EXHBM10 Setting Tool HE M10
EXHBM12 Setting Tool HE M12
EXHBM16 Setting Tool HE M16
EXHBM20 Setting Tool HE M20

HEHO/HE-CL




D'D”pnI NITN

L HEHO
S| ©
sl ®
(Ib2 a1y IX 0Ip Iy 0Ip
iy | AN TIX | MpnapoIy | Amp poiy . .
b Is heff hs L q ' ' dl 0’ D9 XN
i (mm) (mm) (mm) L €
(mm) (mm) (mm) (mm)
100 11 25 26 25 6 8 HEHOMO06 HEHO M6x25
100 13 30 32 30 8 10 HEHOMO08 HEHO M8x30
100 17 40 42 40 10 12 HEHOM10 HEHO M10x40
100 22 50 53 50 12 16 HEHOM12 HEHO M12x50
130 30 65 68 65 16 20 HEHOM16 HEHO M16x65
160 32 80 85 80 20 25 HEHOM20 HEHO M20x80
Ib2 21y TIX 0Ip YR 0Ip
iy | AN TIK | Mpnapoly | ATy poi . .
b Is heft hs I 4 ' : dl 0’pn D9 INT
bmin (mm) (mm) (mm) L v
(mm) (mm) (mm) (mm)
100 11 25 26 25 6 8 HECLOMO06 HE-CL M6x25
100 13 30 32 30 8 10 HECLOMO08 HE-CL M8x30
100 17 40 42 40 10 12 HECLOM10 HE-CL M10x40
100 22 50 53 50 12 16 HECLOM12 HE-CL M12x50
130 30 65 68 65 16 20 HECLOM16 HE-CL M16x65
160 32 80 85 80 20 25 HECLOM12D HE-CL M20x80
I02 21y TIX 1P VA DIP
iy | I TIK | Mpnapn | Ay poiy 5tan o
he Is heff hs 1 4 : ' dl 0" D9 XN
bmin (mm) (mm) (mm) ! w
(mm) (mm) (mm) (mm)
100 11 25 26 25 6 8 HEA4MO06 HE-A4 M6x25
100 13 30 32 30 8 10 HEA4MO08 HE-A4 M8x30
100 17 40 42 40 10 12 HEA4M10 HE-A4 M10x40
100 22 50 53 50 12 16 HEA4M12 HE-A4 M12x50
130 30 65 68 65 16 20 HEA4M16 HE-A4 M16x65
160 32 80 85 80 20 25 HEA4M20 HE-A4 M20x80

HEHO/HE-CL




HE-HC

—

[ID2 121y TIX q01p [y wip
XD 120N X | PN PRy | N poiy S, -
he o Is heff hs L q : ' dl 0’ LRI
b,min (mm) (mm) (mm) 1 0
(mm) (mm) (mm) (mm)
80 7-12 25 28 25 8 10 HEHC0825 HE-HC M8x25
80 8-13 25 28 25 10 12 HEHC1025 HE-HC M10x25
80 10-13 25 29 25 12 16 HEHC1225 HE-HC M12x25

DNPI"907 9PN X7 X70 1022 *

054-7976110 N”y2 D'TX 112N 0TINN'Y7 NII9Y7 X2 ,ND01 nN'7XVY 702

HEHO/HE-CL




